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MUTH 1500: Spring 2010

Realize the figured bass below:

notes = one point each = 36

roman numerals = one point each = 10

voice-leading in the dominant complex = 10

cadences = five points each = 10

preparation of seventh of secondary dominant = one = 5
resolution of secondary leading tone = one =5

arrow showing secondary dominant function = one = 5

81 total points

A=731t0 81
B=641t072
C=55t063
D =46 to 54
F = lower than 46

each parallel perfect unison, fifth, octave = 10 points
improper spacing = 5 points per infraction (max = 20 pionts)
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